# Recovery of the $m$-function from spectral data for generalized Sturm-Liouville problems 

Paul A. Binding ${ }^{\mathrm{a}, *, 1}$, Patrick J. Browne ${ }^{\mathrm{b}}$, Bruce A. Watson ${ }^{\mathrm{c}, 2}$<br>${ }^{\text {a }}$ Department of Mathematics and Statistics, University of Calgary, Calgary, Alta., Canada T2N 1N4<br>${ }^{\mathrm{b}}$ Department of Computer Science, Mathematical Sciences Group, University of Saskatchewan, Sask., Saskatchewan, Canada S7N 5E6<br>${ }^{\mathrm{c}}$ School of Mathematics, University of the Witwatersrand, Private Bag 3, P O WITS 2050, South Africa

Received 28 January 2003; received in revised form 28 June 2003


#### Abstract

The Sturm-Liouville problem $-y^{\prime \prime}+q y=\lambda y, y(0) \cos \alpha=y^{\prime}(0) \sin \alpha,\left(y^{\prime} / y\right)(1)=h(\lambda) / g(\lambda)$ is studied, where $h$ and $g$ are real polynomials. Generalized norming constants $\rho_{n}^{k}$ associated with eigenvalues $\Lambda_{n}$ are defined and formulae are given for recovering the $m$-function from these constants. This leads to a uniqueness theorem for the associated inverse problem.


(c) 2004 Elsevier B.V. All rights reserved.

MSC: 34B25; 46D05; 47E05
Keywords: Sturm-Liouville; Eigenparameter-dependent boundary conditions

## 1. Introduction

In this article we continue our treatment of the regular Sturm-Liouville equation

$$
\begin{equation*}
l y:=-y^{\prime \prime}+q y=\lambda y \text { on }[0,1] \tag{1.1}
\end{equation*}
$$

with $q \in A C[0,1]$, subject to the boundary conditions

$$
\begin{equation*}
y(0) \cos \alpha=y^{\prime}(0) \sin \alpha, \quad \alpha \in[0, \pi) \tag{1.2}
\end{equation*}
$$

[^0]and
\[

$$
\begin{equation*}
\frac{y^{\prime}}{y}(1)=f(\lambda) \tag{1.3}
\end{equation*}
$$

\]

where

$$
f(\lambda)=\frac{h(\lambda)}{g(\lambda)}
$$

and $g$ and $h$ are polynomials with real coefficients and no common zeros. When $f(\lambda)=\infty,(1.3)$ is interpreted as a Dirichlet condition $y(1)=0$.

This type of boundary condition has been discussed by numerous authors, e.g., [1,2,4-7,9,11-13,18-21]. For applications to science and engineering, see the references [7].

Our basic goal is to obtain formulae for the Titchmarsh-Weyl $m$-function in terms of certain spectral data for (1.1)-(1.3). Here we recall

Definition 1.1. Let $v(x, \lambda)$ be a non-identically zero solution of (1.1) satisfying (1.3). The Weyl $m$-function of (1.1)-(1.3) is defined by

$$
\begin{equation*}
m(\lambda)=\frac{v^{\prime}(0, \lambda) \cos \alpha+v(0, \lambda) \sin \alpha}{v^{\prime}(0, \lambda) \sin \alpha-v(0, \lambda) \cos \alpha} \tag{1.4}
\end{equation*}
$$

The poles of the $m$-function are precisely the eigenvalues of (1.1)-(1.3) and the order of each pole coincides with the multiplicity (which we define in Section 2) of the corresponding eigenvalue. The spectral data will consist of the eigenvalues $\lambda_{n}$ and a generalization (see below) $\rho_{n}^{k}$ of the "norming constants" which, for problems with $\lambda$-independent boundary conditions, take the form

$$
\rho_{n}^{0}=\int_{0}^{1} \frac{v\left(x, \lambda_{n}\right)^{2}}{v\left(0, \lambda_{n}\right)^{2}} \mathrm{~d} x
$$

in the case $\alpha \neq 0$.
It is known (even for the case of $f(\lambda)$ and $g(\lambda)$ affine with real coefficients, cf. [3]) that the eigenvalues may be nonreal or even nonsemisimple. In fact one of our main contributions is to find (as far as we know for the first time) an appropriate generalization of the norming constants for such eigenvalues. We employ a bilinear form on $L^{2} \oplus \mathbb{C}^{M}$, for suitable $M$, evaluated on appropriately defined "links" of the Jordan chains for an operator $L$ corresponding to (1.1)-(1.3). This is equivalent to using a sesquilinear form $\sigma$ on left and right Jordan chains for $L$.

It is worth noting that the above form $\sigma$ is in general indefinite, in contrast with the work of several of the works cited above, e.g., [6,21], where $f$ is a Nevanlinna function (i.e., $f \in N_{0}$ ). In our case $f$ belongs to a generalized Nevanlinna class $N_{k}$ and as a consequence $L$ is self-adjoint in a Pontryagin, not Hilbert, space in general. Thus the nonreality and non-semi-simplicity noted above is limited to a finite number of eigenvalues and can be seen directly from our data $\lambda_{n}$ and $\rho_{n}^{k}$. We note that $m$ is also a generalized Nevanlinna function, a fact exploited in [10,11] and several references therein. The existence (and uniqueness) of $\sigma$ was noted by Russakovskii $[18,19]$. The general case can be tackled via Bezoutians (cf. [19]), but to shorten the presentation we make an assumption (see Section 2) about the simplicity of the roots of $g$ or of $h$ since then there is a particularly simple formula for $\sigma$-see (2.2).

The basic constructions noted above are introduced in Section 2, and the singular part of the Laurent series of $m$ at $\lambda_{n}$ is developed in terms of the $\lambda_{n}$ and $\rho_{n}^{k}$ in Section 3. The full formulae for the recovery of $m$ are given for the non-Dirichlet and Dirichlet cases in Sections 4 and 5, respectively, our main results being Theorems 4.4, 5.2 and 5.3.

An important by-product of our formulae is an "inverse uniqueness" result. From [7] we know that $q, \alpha$ and $f$ depend uniquely on $m$ (i.e., if $\tilde{q}, \tilde{\alpha}$ and $\tilde{f}$ also give rise to the same $m$, then $q=\tilde{q}, \alpha=\tilde{\alpha}$ and $f=\tilde{f}$ ). It will follow from our formulae that $q, \alpha$ and $f$ also depend uniquely on $\lambda_{n}$ and $\rho_{n}^{k}$ (see Theorem 6.1), thus generalizing the classical result of Börg [8], Krein [15] and Marchenko [16] to boundary conditions of the form (1.3). In fact, combining the results of [7] with those here, we see that each member of the following list of data sets depends uniquely on each of the others: $(q, \alpha, f) ; m ;(\phi, \alpha)$ where $\phi(x, \lambda)$ is the Prüfer angle (specified at $x=1)$; and $\left(\lambda_{n}, \rho_{n}^{k}\right)$. Pairs of spectra $\left(\lambda_{n}, \mu_{n}\right)$, where $\mu_{n}$ corresponds to ( $q, \beta, f$ ), may be added to this list although obviously $\beta$ must then be assumed known.

## 2. Preliminaries

If $\operatorname{deg}(g) \geqslant \operatorname{deg}(h)$ then we set $M=\operatorname{deg}(g)$ and assume that $g$ is monic with real simple zeros, and if $\operatorname{deg}(g)<\operatorname{deg}(h)$ then we set $M=\operatorname{deg}(h)$ and assume that $h$ is monic with real simple zeros.

We now define $v$ as the solution of (1.1) satisfying the terminal conditions

$$
\begin{aligned}
& v(1, \lambda)=g(\lambda), \\
& v^{\prime}(1, \lambda)=h(\lambda)
\end{aligned}
$$

and write

$$
D(\lambda)=v^{\prime}(0, \lambda) \sin \alpha-v(0, \lambda) \cos \alpha,
$$

where, as in the rest of this paper, ${ }^{\prime}=\partial / \partial x$ giving $v^{\prime}(1, \lambda)=\left.\frac{\partial v(x, \lambda)}{\partial x}\right|_{x=1}$ and ${ }^{(j)}=\partial^{j} / \partial \lambda^{j}$ giving $v^{(j)}(x, \Lambda)=\left.\frac{\partial^{j} v(x, \lambda)}{\partial \lambda j}\right|_{\lambda=\Lambda}$.

The eigenvalues $\lambda_{n}$ are the zeros of $D(\lambda)$, listed by increasing real part, according to multiplicity as zeros of $D(\lambda)$. For brevity (1.1)-(1.3) will frequently be denoted by the shorthand ( $\alpha, f, q$ ).

At various points in the analysis we shall need to distinguish the cases $\operatorname{deg}(h) \leqslant \operatorname{deg}(g)$ (respectively $\operatorname{deg}(h)>\operatorname{deg}(g)$ ). The abbreviation 'resp*' will be used consistently for this purpose. Our assumptions on $g$ and $h$ allow us to write $f(\lambda)(1.3)$ in the form

$$
\begin{equation*}
f(\lambda)\left(\text { resp }^{*} 1 / f(\lambda)\right)=b-\sum_{k=1}^{M} \frac{b_{k}}{\lambda-c_{k}} \tag{2.1}
\end{equation*}
$$

in the case $\operatorname{deg}(h) \leqslant \operatorname{deg}(g)\left(\right.$ resp* $^{*} \operatorname{deg}(h)>\operatorname{deg}(g)$ ), where the coefficients $b, b_{k}, c_{k}$ for $k=1, \ldots, M$ are real.

We define a sesquilinear form on $H=L^{2}[0,1] \oplus \mathbb{C}^{M}$ by

$$
\begin{equation*}
\langle Y, Z\rangle=\int_{0}^{1} y \bar{z}+\sum_{k=1}^{M} \frac{y_{k} \bar{z}_{k}}{b_{k}}\left(\operatorname{resp}^{*} \int_{0}^{1} y \bar{z}-\sum_{k=1}^{M} \frac{y_{k} \bar{z}_{k}}{b_{k}}\right), \tag{2.2}
\end{equation*}
$$

where $y$ and $z$ denote the $L^{2}$-components of $Y$ and $Z$, respectively, and $\left(y_{i}\right)$ and $\left(z_{i}\right)$ the $\mathbb{C}^{M}$ components of $Y$ and $Z$. For later use, we define the bilinear form $[X, Y]=\langle X, \bar{Y}\rangle$ for $X, Y \in H$.

The boundary value problem (1.1)-(1.3) can then be posed in the Pontryagin space $(H,\langle\cdot, \cdot\rangle)$ as an eigenvalue problem for the operator

$$
L Y=\left[\begin{array}{c}
l y  \tag{2.3}\\
c_{1} y_{1}-b_{1} y(1) \\
\ldots \\
c_{M} y_{M}-b_{M} y(1)
\end{array}\right]\left(\text { resp }^{*}\left[\begin{array}{c}
l y \\
c_{1} y_{1}-b_{1} y^{\prime}(1) \\
\ldots \\
c_{M} y_{M}-b_{M} y^{\prime}(1)
\end{array}\right]\right) \quad \text { with } \quad Y=\left[\begin{array}{c}
y \\
y_{1} \\
\ldots \\
y_{M}
\end{array}\right]
$$

and domain

$$
\begin{aligned}
& D(L)=\left\{Y \in H: y, y^{\prime} \in A C, l y \in L^{2}, y(0) \cos \alpha=y^{\prime}(0) \sin \alpha,\left[y^{\prime}-b y\right](1)=\sum_{k=1}^{M} y_{k}\right\} \\
& \left(\operatorname{resp}^{*} D(L)=\left\{Y \in H: y, y^{\prime} \in A C, l y \in L^{2}, y(0) \cos \alpha=y^{\prime}(0) \sin \alpha,\left[y-b y^{\prime}\right](1)=\sum_{k=1}^{M} y_{k}\right\}\right)
\end{aligned}
$$

Note that $\lambda$ is an eigenvalue of (1.1)-(1.3) with eigenfunction $y$ if and only if $\lambda$ is an eigenvalue of $L$ and a corresponding eigenvector of $L$ is

$$
Y=\left[\begin{array}{c}
y(x) \\
\frac{b_{1}}{c_{1}-\lambda} y(1) \\
\vdots \\
\frac{b_{M}}{c_{M}-\lambda} y(1)
\end{array}\right]\left(\mathrm{resp}^{*}\left[\begin{array}{c}
y(x) \\
\frac{b_{1}}{c_{1}-\lambda} y^{\prime}(1) \\
\vdots \\
\frac{b_{M}}{c_{M}-\lambda} y^{\prime}(1)
\end{array}\right]\right)
$$

provided that $\lambda \neq c_{j}, j=1, \ldots, M$. The operator $L$ is self-adjoint and bounded below with compact resolvent in the Pontryagin space $H$ from which we can deduce that the spectrum of $L$ is discrete, has a finite number of nonreal eigenvalues, and has $+\infty$ as its only accumulation point. These results can be found in [18], although some are only stated, and the inner product is not specified explicitly. Complete proofs in the Hilbert space case can be found in [6], and they extend readily to the case here. See also Remarks 2.1.

For $\lambda \neq c_{j}, j=1, \ldots, M$, let

$$
\left.V(x, \lambda)=\left[\begin{array}{c}
v(x, \lambda) \\
\frac{b_{1}}{c_{1}-\lambda} v(1, \lambda) \\
\vdots \\
\frac{b_{M}}{c_{M}-\lambda} v(1, \lambda)
\end{array}\right] \quad \operatorname{resp}^{*}\left[\begin{array}{c}
v(x, \lambda) \\
\frac{b_{1}}{c_{1}-\lambda} v^{\prime}(1, \lambda) \\
\vdots \\
\frac{b_{M}}{c_{M}-\lambda} v^{\prime}(1, \lambda)
\end{array}\right]\right)
$$

and in the case of $\lambda=c_{j}$ let

$$
\left.V\left(x, c_{j}\right)=\left[\begin{array}{c}
v\left(x, c_{j}\right) \\
0 \\
\vdots \\
0 \\
v^{\prime}\left(1, c_{j}\right) \\
0 \\
\vdots \\
0 \\
0
\end{array}\right]=\left[\begin{array}{c}
v\left(x, c_{j}\right) \\
0 \\
\vdots \\
0 \\
-b_{j} g^{(1)}\left(c_{j}\right) \\
0 \\
\vdots \\
0 \\
0
\end{array}\right] \operatorname{resp}^{*}\left[\begin{array}{c}
v\left(x, c_{j}\right) \\
0 \\
\vdots \\
0 \\
v\left(1, c_{j}\right) \\
0 \\
\vdots \\
0 \\
0
\end{array}\right]=\left[\begin{array}{c}
v\left(x, c_{j}\right) \\
0 \\
\vdots \\
0 \\
-b_{j} h^{(1)}\left(c_{j}\right) \\
0 \\
\vdots \\
0 \\
0
\end{array}\right]\right) .
$$

The $V(x, \lambda)$ will provide the key to defining the generalized norming constants, but first they need an appropriate normalization as defined below. Let

$$
U(x, \lambda)=\left\{\begin{array}{ll}
\sin \alpha \frac{V(x, \lambda)}{v(0, \lambda)}, & \alpha \neq 0 \\
\frac{V(x, \lambda)}{v^{\prime}(0, \lambda)}, & \alpha=0
\end{array} \quad \text { for all } \quad x \in[0,1], \lambda \in \mathbb{C}\right.
$$

( $U(x, \lambda)$ has a pole when $v(0, \lambda)=0$ in the case $\alpha \neq 0$ and when $v^{\prime}(0, \lambda)=0$ in the case $\alpha=0$, and is consequently not defined at such values of $\lambda$ ).

Let $\Lambda_{n}$ denote the eigenvalues of $(\alpha, f, q)$ listed without repetition and let $v_{n} \geqslant 1$ denote the multiplicity of the eigenvalue $\Lambda_{n}, n=0,1,2, \ldots$. For large $n, \Lambda_{n}=\lambda_{n+v}$ where

$$
\begin{equation*}
v=\sum_{n=0}^{\infty}\left(v_{n}-1\right) \tag{2.4}
\end{equation*}
$$

Here $0 \leqslant v<\infty$, [18], finiteness again following from self-adjointness of $L$ in $H$. For an eigenvalue $\Lambda_{n}$, let

$$
U_{n}^{0}(x)=U\left(x, \Lambda_{n}\right) .
$$

If $v_{n}>1$ we denote the associated root functions, [17, pp. 16-21], by

$$
U_{n}^{j}(x)=U^{(j)}\left(x, \Lambda_{n}\right), \quad j=1, \ldots, v_{n}-1
$$

It should be noted [7, Lemma 2.1], that the algebraic multiplicity of the eigenvalue $\Lambda_{n}$ of (1.1)-(1.3) coincides with the order of $\Lambda_{n}$ as a zero of $D$. Moreover, the eigenvalues are geometrically simple and the $U_{n}^{j}, 0 \leqslant j \leqslant v_{n}-1$, form a Jordan basis of the algebraic eigenspace at $\Lambda_{n}$. We denote the $L^{2}[0,1]$ components of $U_{n}^{(j)}(x)$ and $V^{(j)}(x, \lambda)$ by $u_{n}^{(j)}(x)$ and $v^{(j)}(x, \lambda)$. It should be observed that $u_{n}^{(j)}(x)$ and $v^{(j)}(x, \lambda)$ are also the $j$ th partial derivatives of $u(x, \lambda)$ and $v(x, \lambda)$ with respect to $\lambda$ and evaluated at $\Lambda_{n}$ and $\lambda$, respectively.

Note that $u(x, \lambda)$ is a solution of (1.1) and for $\alpha \neq 0, u(0, \lambda)=\sin \alpha$ and consequently $u^{(j)}(0, \lambda)=0$ for all $j \geqslant 1$. At $\lambda=\Lambda_{n}, u^{\prime}(0, \lambda) \sin \alpha-u(0, \lambda) \cos \alpha$ has a zero of order $v_{n}$, so $u^{(j)}\left(0, \Lambda_{n}\right)=0$ for
$1 \leqslant j \leqslant v_{n}-1$ and $u^{\left(v_{n}\right)}\left(0, \Lambda_{n}\right) \neq 0$. In the case $\alpha=0, u^{\prime}(0, \lambda)=1$ giving $u^{(j) \prime}(0, \lambda)=0$ for all $j \geqslant 1$, and $u(0, \lambda)$ has a zero of order $v_{n}$ at $\Lambda_{n}$, giving $u^{(j)}\left(0, \Lambda_{n}\right)=0$ for $0 \leqslant j \leqslant v_{n}-1$ and $u^{\left(v_{n}\right)}\left(0, \Lambda_{n}\right) \neq 0$. In addition we observe that $\tilde{L} V(x, \lambda)=\lambda V(x, \lambda)$ and $\tilde{L} U(x, \lambda)=\lambda U(x, \lambda)$ for all $x \in[0,1]$ where $\tilde{L}$ is the extension of $L$ to the domain

$$
D(\tilde{L})=\left\{Y \in H: y, y^{\prime} \in A C, l y \in L^{2}\right\} .
$$

We are now ready for the construction of our generalized norming constants associated with the eigenvalue $\Lambda_{n}$ via the equations

$$
\rho_{n}^{j}=\left[U_{n}^{j}, U_{n}^{v_{n}-1}\right], \quad j=0, \ldots, v_{n}-1
$$

Together with the $\lambda_{n}$, these will form our data from which the $m$-function will be reconstructed.

Remark 2.1. Since $L$ is self-adjoint in $H$, the nonreal eigenvalues appear as a finite number of conjugate pairs, even as to multiplicity. Moreover, if $\Lambda_{n}$ is nonreal then the above constructions also appear in conjugate pairs, e.g., $v\left(x, \bar{\Lambda}_{n}\right)=\overline{v\left(x, \Lambda_{n}\right)}, U^{j}\left(x, \bar{\Lambda}_{n}\right)=\overline{U^{j}\left(x, \Lambda_{n}\right)}$ and similarly for the $\rho_{n}^{j}, j=0, \ldots, v_{n}-1$.

## 3. The Laurent expansion of $m$

The first lemma in this section will supply the necessary background to express the coefficients of the negative power terms in the Laurent expansion of $m(\lambda)$ at an eigenvalue $\Lambda_{n}$ in terms of the $\lambda$ derivatives of $u(0, \lambda)$ and $u^{\prime}(0, \lambda)$ at $\Lambda_{n}$.

Lemma 3.1. Let $Z(\lambda)$ be analytic in a neighbourhood of $a$ and have a zero of order $N$ at a. If $a_{k}=(1 / k!)\left(\partial^{k} Z / \partial \lambda^{k}\right)(a)$ then the Laurent expansion of $1 / Z$ about a has the form

$$
\frac{1}{Z}(\lambda)=E(\lambda)+\sum_{k=1}^{N} \frac{p_{k}}{(\lambda-a)^{k}}
$$

where $E(\lambda)$ is analytic in a neighbourhood of a and

$$
\begin{aligned}
& p_{N}=\frac{1}{a_{N}} \\
& p_{N-j}=-\frac{1}{a_{N}} \sum_{k=0}^{j-1} p_{N-k} a_{N+j-k}, \quad j=1, \ldots, N-1 .
\end{aligned}
$$

The proof is left to the reader.
The next theorem links the derivatives $u^{\left(v_{n}+j\right)}\left(0, \Lambda_{n}\right)$ to the norming constants $\rho_{n}^{j}, j=0, \ldots, v_{n}-1$.

Theorem 3.2. For $j=0, \ldots, v_{n}-1$,

$$
v_{n} \rho_{n}^{j}\binom{v_{n}+j}{v_{n}}= \begin{cases}u^{\left(v_{n}+j\right) \prime}\left(0, \Lambda_{n}\right) \sin \alpha, & \alpha \neq 0 \\ -u^{\left(v_{n}+j\right)}\left(0, \Lambda_{n}\right), & \alpha=0\end{cases}
$$

Proof. Integration by parts, along with the definitions of $V(x, \lambda)$ and $[\cdot, \cdot]$, gives

$$
\begin{aligned}
(\lambda-\mu) & {[V(x, \lambda), V(x, \mu)] } \\
= & {[\lambda V(x, \lambda), V(x, \mu)]-[V(x, \lambda), \mu V(x, \mu)] } \\
= & {[\tilde{L} V(x, \lambda), V(x, \mu)]-[V(x, \lambda), \tilde{L} V(x, \mu)] } \\
= & {\left[v(x, \lambda) v^{\prime}(x, \mu)-v^{\prime}(x, \lambda) v(x, \mu)\right]_{x=0}^{x=1} } \\
& +\sum_{k=1}^{M} \frac{v(1, \lambda) v(1, \mu)}{b_{k}}\left[\left(\frac{c_{k} b_{k}}{c_{k}-\lambda}-b_{k}\right) \frac{b_{k}}{c_{k}-\mu}-\left(\frac{c_{k} b_{k}}{c_{k}-\mu}-b_{k}\right) \frac{b_{k}}{c_{k}-\lambda}\right] \\
= & {\left[v(1, \lambda) v^{\prime}(1, \mu)-v^{\prime}(1, \lambda) v(1, \mu)\right]-\left[v(0, \lambda) v^{\prime}(0, \mu)-v^{\prime}(0, \lambda) v(0, \mu)\right] } \\
& +(\lambda-\mu) v(1, \lambda) v(1, \mu) \sum_{k=1}^{M} \frac{b_{k}}{\left(c_{k}-\lambda\right)\left(c_{k}-\mu\right)} \\
= & v(1, \lambda) v(1, \mu)[f(\mu)-f(\lambda)]-\left[v(0, \lambda) v^{\prime}(0, \mu)-v^{\prime}(0, \lambda) v(0, \mu)\right] \\
& +v(1, \lambda) v(1, \mu)[f(\lambda)-f(\mu)] \\
= & v^{\prime}(0, \lambda) v(0, \mu)-v(0, \lambda) v^{\prime}(0, \mu) \\
\left(\operatorname{resp}{ }^{*}\right. & (\lambda-\mu)[V(x, \lambda), V(x, \mu)] \\
= & {[\lambda V(x, \lambda), V(x, \mu)]-[V(x, \lambda), \mu V(x, \mu)] } \\
= & {[\tilde{L} V(x, \lambda), V(x, \mu)]-[V(x, \lambda), \tilde{L} V(x, \mu)] } \\
= & {\left[v(x, \lambda) v^{\prime}(x, \mu)-v^{\prime}(x, \lambda) v(x, \mu)\right]_{0}^{1} } \\
& +\sum_{k=1}^{M} v^{\prime}(1, \lambda) v^{\prime}(1, \mu)\left[\frac{b_{k}}{c_{k}-\mu}-\frac{b_{k}}{c_{k}-\lambda}\right] \\
= & \left.v^{\prime}(0, \lambda) v(0, \mu)-v(0, \lambda) v^{\prime}(0, \mu)\right) .
\end{aligned}
$$

Thus, independently of $\operatorname{deg}(g)$ and $\operatorname{deg}(h)$,

$$
\begin{equation*}
(\lambda-\mu)[V(x, \lambda), V(x, \mu)]=v^{\prime}(0, \lambda) v(0, \mu)-v(0, \lambda) v^{\prime}(0, \mu) . \tag{3.1}
\end{equation*}
$$

In the above we have assumed $\lambda, \mu \neq c_{j}$ for all $j=1, \ldots, M$. However, by continuity, (3.1) still holds if $\lambda$ or $\mu$ is equal to $c_{j}$ for some $j$.

We consider next the case $\alpha \neq 0$. Dividing (3.1) by $v(0, \mu) v(0, \lambda)$ and multiplying by $\sin \alpha$ we have

$$
\frac{(\lambda-\mu)}{\sin \alpha}[U(x, \lambda), U(x, \mu)]=u^{\prime}(0, \lambda)-u^{\prime}(0, \mu) .
$$

Taking the $j$ th derivative, $j \geqslant 1$, of the above expression with respect to $\lambda$ we see that

$$
\begin{equation*}
(\lambda-\mu)\left[U^{(j)}(x, \lambda), U(x, \mu)\right]+j\left[U^{(j-1)}(x, \lambda), U(x, \mu)\right]=\sin \alpha u^{(j) \prime}(0, \lambda) \tag{3.2}
\end{equation*}
$$

and hence for all $j \geqslant 1$ :

$$
\begin{equation*}
j\left[U_{n}^{j-1}(x), U_{n}^{0}(x)\right]=\sin \alpha u^{(j) \prime}\left(0, \Lambda_{n}\right) \tag{3.3}
\end{equation*}
$$

In particular

$$
\begin{equation*}
\left[U_{n}^{v_{n}-1}(x), U_{n}^{0}(x)\right]=\frac{\sin \alpha}{v_{n}} u^{\left(v_{n}\right)^{\prime}}\left(0, \Lambda_{n}\right) . \tag{3.4}
\end{equation*}
$$

Differentiating (3.2) $k \geqslant 1$ times with respect to $\mu$ we obtain

$$
(\mu-\lambda)\left[U^{(j)}(x, \lambda), U^{(k)}(x, \mu)\right]+k\left[U^{(j)}(x, \lambda), U^{(k-1)}(x, \mu)\right]=j\left[U^{(j-1)}(x, \lambda), U^{(k)}(x, \mu)\right]
$$

which evaluated at $\lambda=\Lambda_{n}=\mu$ results in the following recurrence formula:

$$
k\left[U_{n}^{j}(x), U_{n}^{k-1}(x)\right]=j\left[U_{n}^{j-1}(x), U_{n}^{k}(x)\right] .
$$

Iterating the above relation we obtain

$$
\binom{v_{n}+k-1}{k}\left[U_{n}^{v_{n}-1}, U_{n}^{k}\right]=\left[U_{n}^{v_{n}+k-1}, U_{n}^{0}\right]
$$

which along with (3.3) and (3.4) gives

$$
\begin{aligned}
\sin \alpha u^{\left(j+v_{n}\right)}\left(0, \Lambda_{n}\right) & =\left(v_{n}+j\right)\left[U_{n}^{j+v_{n}-1}, U_{n}^{0}\right] \\
& =\left(v_{n}+j\right) \frac{\left(v_{n}+j-1\right)!}{\left(v_{n}-1\right)!j!}\left[U_{n}^{v_{n}-1}, U_{n}^{j}\right] \\
& =v_{n} \frac{\left(v_{n}+j\right)!}{v_{n}!j!} \rho_{n}^{j},
\end{aligned}
$$

as required.
Now assume $\alpha=0$. Dividing (3.1) by $v^{\prime}(0, \mu) v^{\prime}(0, \lambda)$ we have

$$
(\lambda-\mu)[U(x, \lambda), U(x, \mu)]=u(0, \mu)-u(0, \lambda)
$$

Thus we may proceed as in the non-Dirichlet case but with $u^{\prime}$ replaced by $u$ and $\sin \alpha$ by -1 .
Combining Lemma 3.1 and Theorem 3.2 we are able to express the coefficients of the singular part of the Laurent expansion of $m(\lambda)$ in terms of the norming constants as follows. Note that $\rho_{n}^{0} \neq 0$ -cf. (3.4) and its analogue for $\alpha=0$ (see above).

Corollary 3.3. The Laurent expansion of $m(\lambda)$ about $\Lambda_{n}$ takes the form

$$
m(\lambda)=E_{n}(\lambda)+\sum_{k=1}^{v_{n}} \frac{p_{n}^{k}}{\left(\lambda-\Lambda_{n}\right)^{k}},
$$

where $E_{n}(\lambda)$ is analytic in a neighbourhood of $\Lambda_{n}$ and

$$
\begin{aligned}
& p_{n}^{v_{n}}=\frac{\left(v_{n}-1\right)!}{\rho_{n}^{0}} \\
& p_{n}^{v_{n}-j}=-\sum_{k=0}^{j-1} p_{n}^{v_{n}-k} \frac{\rho_{n}^{j-k}}{(j-k)!\rho_{n}^{0}} \quad j=1, \ldots, v_{n}-1 .
\end{aligned}
$$

Proof. We begin by considering the non-Dirichlet case (i.e., $\alpha \neq 0$ ). Simple manipulation using the definitions of $m(\lambda)$ and $u^{\prime}(0, \lambda)$ shows that the Weyl $m$-function (1.4) can expressed as

$$
m(\lambda)=\cot \alpha+\frac{1}{Z(\lambda)},
$$

where

$$
Z(\lambda)=\sin \alpha u^{\prime}(0, \lambda)-\cos \alpha \sin \alpha .
$$

Applying Lemma 3.1, we obtain

$$
m(\lambda)=E_{n}(\lambda)+\sum_{k=1}^{v_{n}} \frac{p_{n}^{k}}{\left(\lambda-\Lambda_{n}\right)^{k}},
$$

where $E_{n}(\lambda)$ is analytic in a neighbourhood of $\Lambda_{n}$ and

$$
\begin{aligned}
& a_{n}^{k}=\frac{1}{k!} \frac{d^{k} Z}{d \lambda^{k}}\left(\Lambda_{n}\right), \\
& p_{n}^{v_{n}}=\frac{1}{a_{n}^{v_{n}}}, \\
& p_{n}^{v_{n}-j}=-\frac{1}{a_{n}^{v_{n}}} \sum_{k=0}^{j-1} p_{n}^{v_{n}-k} a_{n}^{v_{n}+j-k}, \quad j=1, \ldots, M-1 .
\end{aligned}
$$

But then by Theorem 3.2

$$
a_{n}^{v_{n}+j}=\frac{\sin \alpha}{\left(j+v_{n}\right)!} u^{\left(v_{n}+j\right) \prime}\left(0, \Lambda_{n}\right)=\frac{\rho_{n}^{j}}{(v-1)!j!}
$$

giving

$$
\begin{aligned}
& p_{n}^{v_{n}}=\frac{\left(v_{n}-1\right)!}{\rho_{n}^{0}}, \\
& p_{n}^{v_{n}-j}=-\sum_{k=0}^{j-1} \frac{p_{n}^{v_{n}-k} \rho_{n}^{j-k}}{(j-k)!\rho_{n}^{0}},
\end{aligned}
$$

concluding the non-Dirichlet case.
For the Dirichlet case $\alpha=0$, the definitions of $m(\lambda)$ and $u(0, \lambda)$ give

$$
m(\lambda)=-\frac{1}{u(0, \lambda)}
$$

Applying Lemma 3.1 with $Z(\lambda)=-u(0, \lambda)$ we obtain

$$
a_{n}^{v_{n}+j}=\frac{-1}{\left(v_{n}+j\right)!} u^{\left(v_{n}+j\right)}\left(0, \Lambda_{n}\right)=\frac{\rho_{n}^{j}}{\left(v_{n}-1\right)!j!},
$$

and we now proceed as in the non-Dirichlet case.

## 4. Representation of the $\boldsymbol{m}$-function

Our task now is to represent the analytic part of $m$, i.e., $E_{n}$ of Corollary 3.3, in terms of the spectral data. From this point on, asymptotics will be needed for several quantities related to (1.1)-(1.3). For the m -function, the basic asymptotics as $\lambda \rightarrow-\infty$ are as follows.

Theorem 4.1 (Binding et al. [7, Lemma 4.1]). For $\lambda \rightarrow-\infty$ we have

$$
m(\lambda)= \begin{cases}\cot \alpha+\mathrm{O}\left(\frac{1}{\sqrt{|\lambda|}}\right), & \alpha \neq 0 \\ \sqrt{|\lambda|}+\mathrm{O}(1), & \alpha=0\end{cases}
$$

Here and below we take positive square roots. We recall that for large $n$, each eigenvalue is simple. Thus asymptotic expressions for the norming constants relate only to simple eigenvalues, so only $\rho_{n}^{0}$ will be required, and we now give the corresponding asymptotics to the order we need.

Theorem 4.2. For $q \in W^{1,1}(0,1)$ (i.e., $q$ in $\left.A C\right)$, the norming constants for $(\alpha, f, q)$ obey the following asymptotics as $n \rightarrow \infty$ :

$$
\rho_{n}^{0}= \begin{cases}\frac{\sin ^{2} \alpha}{2}+\mathrm{O}\left(\frac{1}{n^{2}}\right), & \alpha \neq 0  \tag{4.1}\\ \frac{1}{2 \Lambda_{n}}+\mathrm{O}\left(\frac{1}{n^{4}}\right), & \alpha=0\end{cases}
$$

Remark. Note that for $q \in L^{1}$ we obtain the above theorem but with $\mathrm{O}\left(1 / n^{2}\right)$ replaced by $\mathrm{O}(1 / n)$ which is sufficient for us in the case $\alpha \neq 0$, but is inadequate for $\alpha=0$ where we need $\mathrm{O}\left(1 / n^{1+\varepsilon}\right)$ for some $\varepsilon>0$. Weaker conditions than $q \in A C$ which suffice for us are $q \in H^{s}$ for some $s>0$ [14], or $q$ Hölder continuous for some non-zero Hölder exponent [23].

Proof. As $v_{n}=1$ for large $n$

$$
\begin{aligned}
& \rho_{n}^{0}=\left[U_{n}^{0}, U_{n}^{0}\right]=\int_{0}^{1} u_{n}^{2}+\sum_{k=1}^{M}\left(\frac{b_{k}}{c_{k}-\Lambda_{n}}\right)^{2} \frac{u_{n}^{2}(1)}{b_{k}}=\int_{0}^{1} u_{n}^{2}+f^{(1)}\left(\Lambda_{n}\right) u_{n}^{2}(1), \\
& \left(\operatorname{resp}^{*} \rho_{n}^{0}=\left[U_{n}^{0}, U_{n}^{0}\right]=\int_{0}^{1} u_{n}^{2}-\sum_{k=1}^{M}\left(\frac{b_{k}}{c_{k}-\Lambda_{n}}\right)^{2} \frac{\left(u_{n}^{\prime}\right)^{2}(1)}{b_{k}}=\int_{0}^{1} u_{n}^{2}+\frac{f^{(1)}}{f}\left(\Lambda_{n}\right) u_{n}^{2}(1)\right)
\end{aligned}
$$

(recall $f^{(1)}$ means $\partial f / \partial \lambda$ ). But from [7, Appendix] we have as $n \rightarrow \infty$

$$
u_{n}^{2}(x, \lambda)= \begin{cases}\frac{2 \cos \sqrt{\Lambda_{n}} x}{\sqrt{\Lambda_{n}}}\left[\cos \alpha \sin \alpha \sin \sqrt{\Lambda_{n}} x+\sin ^{2} \alpha \int_{0}^{x} q(t) \cos \sqrt{\Lambda_{n}} t \sin \sqrt{\Lambda_{n}}(x-t) \mathrm{d} t\right] & \\ \quad+\sin ^{2} \alpha \cos ^{2} \sqrt{\Lambda_{n}} x+\mathrm{O}\left(\frac{e^{\left|\Im \sqrt{\Lambda_{n}} x\right|}}{\Lambda_{n}}\right), & \alpha \neq 0 \\ \frac{\sin ^{2} \sqrt{\Lambda_{n}} x}{\Lambda_{n}}+\frac{2 \sin \sqrt{\Lambda_{n}} x}{\Lambda_{n}^{3 / 2}} \int_{0}^{x} q(t) \sin \sqrt{\Lambda_{n}} t \sin \sqrt{\Lambda_{n}}(x-t) \mathrm{d} t & \\ \quad+\mathrm{O}\left(\frac{e^{\mid \Im \sqrt{\Lambda_{n} x \mid}}}{\Lambda_{n}^{2}}\right), & \alpha=0\end{cases}
$$

Recalling that $M=\max \{\operatorname{deg}(g), \operatorname{deg}(h)\}$ and $v=\sum_{j=0}^{\infty}\left(v_{j}-1\right)$, we obtain from [7, Theorem 2.2]

$$
\sqrt{\Lambda_{n}}= \begin{cases}(v+n-M) \pi+\mathrm{O}(1 / n), & \alpha \neq 0  \tag{4.2}\\ \left(v+n+\frac{1}{2}-M\right) \pi+\mathrm{O}(1 / n), & \alpha=0\end{cases}
$$

(resp*

$$
\sqrt{\Lambda_{n}}= \begin{cases}\left(v+n+\frac{1}{2}-M\right) \pi+\mathrm{O}(1 / n), & \alpha \neq 0  \tag{4.3}\\ (v+n+1-M) \pi+\mathrm{O}(1 / n), & \alpha=0\end{cases}
$$

which gives

$$
u_{n}^{2}(1)= \begin{cases}\sin ^{2} \alpha+\mathrm{O}(1 / n), & \alpha \neq 0 \\ \frac{1}{\Lambda_{n}}+\mathrm{O}\left(1 / n^{3}\right), & \alpha=0\end{cases}
$$

(resp*

$$
u_{n}^{2}(1)= \begin{cases}\mathrm{O}\left(1 / n^{2}\right), & \alpha \neq 0 \\ \mathrm{O}\left(1 / n^{4}\right), & \alpha=0\end{cases}
$$

and

$$
u_{n}^{2}(1) f^{(1)}\left(\Lambda_{n}\right)\left(\operatorname{resp}^{*} u_{n}^{2}(1) \frac{f^{(1)}}{f}\left(\Lambda_{n}\right)\right)= \begin{cases}\mathrm{O}\left(1 / n^{2}\right), & \alpha \neq 0 \\ \mathrm{O}\left(1 / n^{4}\right), & \alpha=0\end{cases}
$$

From the above expressions for $\sqrt{\Lambda_{n}}$ and $u_{n}^{2}(x)$ we get

$$
\begin{aligned}
& \int_{0}^{1} \cos ^{2} \sqrt{\Lambda_{n}} t \mathrm{~d} t=\frac{1}{2}+\frac{\sin 2 \sqrt{\Lambda_{n}}}{2 \sqrt{\Lambda_{n}}}=\frac{1}{2}+\mathrm{O}\left(\frac{1}{n^{2}}\right) \\
& \int_{0}^{1} \sin ^{2} \sqrt{\Lambda_{n}} t \mathrm{~d} t=\frac{1}{2}+\mathrm{O}\left(\frac{1}{n^{2}}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
\frac{1}{\sqrt{\Lambda_{n}}} \int_{0}^{1} 2 \cos \sqrt{\Lambda_{n}} x \sin \sqrt{\Lambda_{n}} x \mathrm{~d} x & =\frac{1}{\sqrt{\Lambda_{n}}} \int_{0}^{1} \sin 2 \sqrt{\Lambda_{n}} x \mathrm{~d} x \\
& =\frac{1-\cos 2 \sqrt{\Lambda_{n}}}{2 \Lambda_{n}} \\
& =\mathrm{O}\left(1 / n^{2}\right)
\end{aligned}
$$

Further as $n \rightarrow \infty$

$$
\begin{aligned}
& \int_{0}^{1} \frac{2 \cos \sqrt{\Lambda_{n}} x}{\sqrt{\Lambda_{n}}} \int_{0}^{x} q(t) \cos \sqrt{\Lambda_{n}} t \sin \sqrt{\Lambda_{n}}(x-t) \mathrm{d} t \mathrm{~d} x \\
& \quad=\int_{0}^{1} 2 q(t) \cos \sqrt{\Lambda_{n}} t \int_{t}^{1} \frac{\cos \sqrt{\Lambda_{n}} x \sin \sqrt{\Lambda_{n}}(x-t)}{\sqrt{\Lambda_{n}}} \mathrm{~d} x \mathrm{~d} t \\
& \quad=\int_{0}^{1} \frac{q(t) \cos \sqrt{\Lambda_{n}} t}{\sqrt{\Lambda_{n}}} \int_{t}^{1}\left[\sin \sqrt{\Lambda_{n}}(2 x-t)-\sin \sqrt{\Lambda_{n}} t\right] \mathrm{d} x \mathrm{~d} t \\
& \\
& =-\frac{1}{2 \sqrt{\Lambda_{n}}} \int_{0}^{1}(1-t) q(t) \sin 2 \sqrt{\Lambda_{n}} t \mathrm{~d} t+\mathrm{O}\left(1 / \Lambda_{n}\right) \\
& \\
& =-\frac{1}{4 \Lambda_{n}}\left[q(0)+\int_{0}^{1} \frac{\mathrm{~d}[(1-t) q(t)]}{\mathrm{d} t} \cos 2 \sqrt{\Lambda_{n}} t \mathrm{~d} t\right]+\mathrm{O}\left(1 / \Lambda_{n}\right) \\
& =\mathrm{O}\left(1 / \Lambda_{n}\right)
\end{aligned}
$$

Similarly

$$
\int_{0}^{1} \frac{2 \sin \sqrt{\Lambda_{n}} x}{\sqrt{\Lambda_{n}}} \int_{0}^{x} q(t) \sin \sqrt{\Lambda_{n}} t \sin \sqrt{\Lambda_{n}}(x-t) \mathrm{d} t \mathrm{~d} x=\mathrm{O}\left(1 / \Lambda_{n}\right)
$$

The result now follows by combining the above asymptotics.
In the remainder of this paper we assume that 0 is not an eigenvalue of $(\alpha, f, q)$. This does not result in a loss of generality, since if 0 is an eigenvalue we can replace the problem $(\alpha, f(\lambda), q(x))$ by $(\alpha, f(\lambda+\zeta), q(x)-\zeta)$, where $\zeta \in \mathbb{R}$ is not an eigenvalue of $(\alpha, f, q)$. Then $(\alpha, f(\lambda+\zeta), q(x)-\zeta)$ does not have 0 as an eigenvalue. The spectrum of $(\alpha, f(\lambda+\zeta), q(x)-\zeta)$ is obtained from that of $(\alpha, f(\lambda), q(x))$ by translation through $\zeta$. The norming constants are the same for both problems.

Lemma 4.3. If $\lambda$ is not an eigenvalue of (1.1)-(1.3), then

$$
\begin{equation*}
m(\lambda)=m(0)+\sum_{n=0}^{\infty} \sum_{j=1}^{v_{n}} p_{n}^{j}\left[\frac{1}{\left(\lambda-\Lambda_{n}\right)^{j}}-\frac{1}{\left(-\Lambda_{n}\right)^{j}}\right] \tag{4.4}
\end{equation*}
$$

with $p_{n}^{j}$ as given in Corollary 3.3.
Proof. Let $\Gamma_{n}=\left\{\xi^{2} \mid \xi \in \gamma_{n}\right\}$ where $\gamma_{n}$ is the contour from $-\mathrm{i} \zeta_{n}$ to $\mathrm{i} \zeta_{n}$ as indicated in Fig. 1 and $\zeta_{n}=\left(n+\frac{1}{4}\right) \pi$.


Fig. 1. $\gamma_{n}$ in the $\xi$-plane.

We observe that for large $n$

$$
m(\mu)=\mathrm{O}(n) \quad \text { uniformly for } \quad \mu \in \Gamma_{n}
$$

and that length $\left(\Gamma_{n}\right) \leqslant n^{2} K$ for some positive constant $K$, independent of $n$.
Letting

$$
H(\mu)=\frac{m(\mu)}{\mu(\mu-\lambda)}
$$

we see that $H(\mu)=\mathrm{O}\left(n^{-3}\right)$ on $\Gamma_{n}$ and so

$$
\lim _{n \rightarrow \infty} \int_{\Gamma_{n}} H(\mu) \mathrm{d} \mu=0
$$

Thus, assuming $\lambda \neq 0$ and that $\lambda$ is not an eigenvalue, we have

$$
0=\frac{m(\lambda)}{\lambda}-\frac{m(0)}{\lambda}+\left.\sum_{n=0}^{\infty} \sum_{j=1}^{v_{n}} \frac{p_{n}^{j}}{(j-1)!} \frac{\partial^{j-1}}{\partial \mu^{j-1}}\left(\frac{1}{\mu(\mu-\lambda)}\right)\right|_{\mu=A_{n}}
$$

giving

$$
m(\lambda)=m(0)+\left.\sum_{n=0}^{\infty} \sum_{j=1}^{v_{n}} \frac{p_{n}^{j}}{(j-1)!} \frac{\partial^{j-1}}{\partial \mu^{j-1}}\left(\frac{1}{\mu}+\frac{1}{\lambda-\mu}\right)\right|_{\mu=\Lambda_{n}}
$$

from which the statement of the lemma follows.
We are now able to give an expansion of $m$ directly in terms of the spectral data $\Lambda_{n}, v_{n}$ and $\rho_{n}^{j}, j=0, \ldots, v_{n}-1$, (and $\alpha$ which can be obtained from (4.1)).

Theorem 4.4. For $\alpha \neq 0$ and $\lambda \neq \Lambda_{n}, n=0,1,2, \ldots$,

$$
m(\lambda)=\cot \alpha+\sum_{k=0}^{\infty} \sum_{j=1}^{v_{k}} \frac{p_{k}^{j}}{\left(\lambda-\Lambda_{k}\right)^{j}},
$$

where $p_{k}^{j}$ satisfy Corollary 3.3.

Proof. For large $k, v_{k}=1$ and so $p_{k}^{j}=p_{k}^{1}=1 / \rho_{k}^{0}=\mathrm{O}(1)$ by Corollary 3.3 and (4.1). Thus we may let $\lambda$ tend to $-\infty$ in (4.4) and using Theorem 4.1 we obtain

$$
\cot \alpha=m(0)-\sum_{n=0}^{\infty} \sum_{j=1}^{v_{n}} \frac{p_{n}^{j}}{\left(-\Lambda_{n}\right)^{j}}
$$

The result now follows by using the above expression to eliminate $m(0)$ from (4.4).

## 5. The Dirichlet case

In this section we establish analogues of Corollary 4.4 for the case $\alpha=0$. The primary difficulty is that eliminating $m(0)$ from (4.4) requires significantly more care.

We start with an improved version of Theorem 4.1 for this case.

Lemma 5.1. In the Dirichlet case $\alpha=0$,

$$
m\left(-\sigma^{2}\right)=\sigma+\mathrm{O}(1 / \sigma), \quad \text { as } \quad \sigma \rightarrow \infty
$$

In particular $m(\lambda)+\mathrm{i} \sqrt{\lambda} \rightarrow 0$ as $\lambda \rightarrow-\infty$.
Proof. Referring to [7, Appendix] with $\sqrt{\lambda}=\mathrm{i} \sigma$ we get

$$
\begin{aligned}
& v\left(0,-\sigma^{2}\right)=\frac{(-1)^{M} \sigma^{2 M} \mathrm{e}^{\sigma}}{4}\left[2+\mathrm{O}\left(\sigma^{-1}\right)\right] \\
& v^{\prime}\left(0,-\sigma^{2}\right)=\frac{(-1)^{M+1} \sigma^{2 M+1} \mathrm{e}^{\sigma}}{4}\left[2+\mathrm{O}\left(\sigma^{-1}\right)\right]
\end{aligned}
$$

(resp*

$$
\begin{aligned}
& v\left(0,-\sigma^{2}\right)=\frac{(-1)^{M-1} \sigma^{2 M-1} \mathrm{e}^{\sigma}}{4}\left[2+\mathrm{O}\left(\sigma^{-1}\right)\right] \\
& \left.v^{\prime}\left(0,-\sigma^{2}\right)=\frac{(-1)^{M} \sigma^{2 M} \mathrm{e}^{\sigma}}{4}\left[2+\mathrm{O}\left(\sigma^{-1}\right)\right]\right)
\end{aligned}
$$

Thus

$$
m\left(-\sigma^{2}\right)-\sigma=-\frac{v^{\prime}\left(0,-\sigma^{2}\right)+\sigma v\left(0,-\sigma^{2}\right)}{v\left(0,-\sigma^{2}\right)}=\mathrm{O}\left(\frac{1}{\sigma}\right)
$$

The following theorems express $m(\lambda)$ in terms of the eigenvalues and norming constants. The analysis will depend on the relative magnitudes of $\operatorname{deg}(h)$ and $\operatorname{deg}(g)$.

Theorem 5.2. For $\alpha=0$ and $M=\operatorname{deg}(h)>\operatorname{deg}(g)$

$$
m(\lambda)=1+2(v-M)+\sum_{n=0}^{\infty}\left[2+\sum_{j=1}^{v_{n}} \frac{p_{n}^{j}}{\left(\lambda-\Lambda_{n}\right)^{j}}\right]
$$

where $v-M$ can be obtained from (4.3).

Proof. First, (4.3) follows from $\Lambda_{n}=(n+1+v-M)^{2} \pi^{2}+\mathrm{O}(1)$. Noting that $\sqrt{\lambda} \cot \sqrt{\lambda}=-\mathrm{i} \sqrt{\lambda}[1+$ $\left.\mathrm{O}\left(e^{-|\Im \sqrt{\lambda}|}\right)\right]$ as $\lambda \rightarrow-\infty$ we see by Lemma 5.1 that

$$
\lim _{\lambda \rightarrow-\infty}[m(\lambda)-\sqrt{\lambda} \cot \sqrt{\lambda}]=0
$$

Now from (4.4) we have

$$
\begin{equation*}
m(\lambda)=m(0)+S(\lambda)+\sum_{n=0}^{\infty} p_{n}^{1}\left(\frac{1}{\lambda-\Lambda_{n}}+\frac{1}{\Lambda_{n}}\right) \tag{5.1}
\end{equation*}
$$

where

$$
\begin{equation*}
S(\lambda)=\sum_{n=0}^{\infty} \sum_{j=2}^{v_{n}} p_{n}^{j}\left(\frac{1}{\left(\lambda-\Lambda_{n}\right)^{j}}-\frac{1}{\left(-\Lambda_{n}\right)^{j}}\right) \tag{5.2}
\end{equation*}
$$

which is in fact a finite summation, as all but finitely many eigenvalues are simple. Let

$$
\begin{equation*}
S_{\infty}=\lim _{\lambda \rightarrow-\infty} S(\lambda)=-\sum_{n=0}^{\infty} \sum_{j=2}^{v_{n}} \frac{p_{n}^{j}}{\left(-\Lambda_{n}\right)^{j}} \tag{5.3}
\end{equation*}
$$

With the aid of the Mittag-Leffler expansion, [22, p. 113]

$$
\sqrt{\lambda} \cot \sqrt{\lambda}=-1-\sum_{k=0}^{\infty} \frac{2 \lambda}{n^{2} \pi^{2}-\lambda}
$$

we obtain

$$
\begin{align*}
m(\lambda) & -\sqrt{\lambda} \cot \sqrt{\lambda} \\
= & m(0)+S(\lambda)+1+\sum_{n=0}^{M-v-2} p_{n}^{1}\left(\frac{1}{\lambda-\Lambda_{n}}+\frac{1}{\Lambda_{n}}\right) \\
& +\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v-1}^{1}}{\Lambda_{n+M-v-1}} \frac{\lambda}{\lambda-\Lambda_{n+M-v-1}}-2 \frac{\lambda}{\lambda-n^{2} \pi^{2}}\right] \\
= & m(0)+S(\lambda)+1+\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v-1}^{1}}{\Lambda_{n+M-v-1}}-2\right] \frac{\lambda}{\lambda-\Lambda_{n+M-v-1}} \\
& +\sum_{n=0}^{M-v-2} p_{n}^{1}\left(\frac{1}{\lambda-\Lambda_{n}}+\frac{1}{\Lambda_{n}}\right)+\sum_{n=0}^{\infty}\left[\frac{2 \lambda}{\lambda-\Lambda_{n+M-v-1}}-\frac{2 \lambda}{\lambda-n^{2} \pi^{2}}\right] . \tag{5.4}
\end{align*}
$$

Now Corollary 3.3 and (4.1) yield

$$
\begin{equation*}
p_{n}^{1} / \Lambda_{n}=2+\mathrm{O}\left(n^{-2}\right) \tag{5.5}
\end{equation*}
$$

so

$$
\lim _{\lambda \rightarrow-\infty} \sum_{n=0}^{\infty}\left[\frac{p_{n+M-v-1}^{1}}{\Lambda_{n+M-v-1}}-2\right] \frac{\lambda}{\lambda-\Lambda_{n+M-v-1}}=\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v-1}^{1}}{\Lambda_{n+M-v-1}}-2\right] .
$$

Noting that $\Lambda_{n+M-v-1}-n^{2} \pi^{2}=\mathrm{O}(1)$, we see that there exists a constant $K$ such that, for $\lambda$ large and negative,

$$
\begin{aligned}
& \sum_{n=0}^{\infty}\left|\frac{2 \lambda}{\lambda-\Lambda_{n+M-v-1}}-\frac{2 \lambda}{\lambda-n^{2} \pi^{2}}\right| \\
& \quad \leqslant K \sum_{n=0}^{\infty}\left[\frac{|\lambda|}{|\lambda|\left(n^{2} \pi^{2}-\lambda\right)}\right] \\
& \quad=-\frac{K(\sqrt{\lambda} \cot \sqrt{\lambda}+1)}{2|\lambda|} \\
& \quad \rightarrow 0 \quad \text { as } \quad \lambda \rightarrow-\infty
\end{aligned}
$$

Assembling these pieces, we see that, as $\lambda \rightarrow-\infty$,

$$
m(\lambda)-\sqrt{\lambda} \cot \sqrt{\lambda} \rightarrow m(0)+S_{\infty}+1+\sum_{n=0}^{M-v-2} p_{n}^{1} \frac{1}{\Lambda_{n}}+\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v-1}^{1}}{\Lambda_{n+M-v-1}}-2\right]
$$

from which we obtain

$$
m(0)=\sum_{n=0}^{\infty} \sum_{j=2}^{v_{n}} \frac{p_{n}^{j}}{\left(-\Lambda_{n}\right)^{j}}-1-2(M-v-1)-\sum_{n=0}^{\infty}\left[\frac{p_{n}^{1}}{\Lambda_{n}}-2\right] .
$$

Substituting these expressions back into (5.1) we get

$$
\begin{aligned}
m(\lambda)= & 1-2 M+2 v+\sum_{n=0}^{\infty} \sum_{j=2}^{v_{n}} \frac{p_{n}^{j}}{\left(-\Lambda_{n}\right)^{j}}-\sum_{n=0}^{\infty}\left[\frac{p_{n}^{1}}{\Lambda_{n}}-2\right] \\
& +\sum_{n=0}^{\infty} \sum_{j=1}^{v_{n}} p_{n}^{j}\left[\frac{1}{\left(\lambda-\Lambda_{n}\right)^{j}}-\frac{1}{\left(-\Lambda_{n}\right)^{j}}\right] \\
= & 1-2 M+2 v+\sum_{n=0}^{\infty} \sum_{j=2}^{v_{n}} p_{n}^{j} \frac{1}{\left(\lambda-\Lambda_{n}\right)^{j}}+\sum_{n=0}^{\infty}\left[2+\frac{p_{n}^{1}}{\lambda-\Lambda_{n}}\right],
\end{aligned}
$$

proving the theorem.
We now discuss the remaining case. Note that $v-M$ can now be obtained from (4.2).

Theorem 5.3. For $\alpha=0$ and $\operatorname{deg}(h) \leqslant \operatorname{deg}(g)=M$ we have

$$
m(\lambda)=2(v-M)+\sum_{n=0}^{\infty}\left[2+\sum_{j=1}^{v_{n}} \frac{p_{n}^{j}}{\left(\lambda-\Lambda_{n}\right)^{j}}\right]
$$

Proof. Here $\Lambda_{n}=\left(n+v+\frac{1}{2}-M\right)^{2} \pi^{2}+\mathrm{O}(1)$ and we note that $\sqrt{\lambda} \tan \sqrt{\lambda}=\mathrm{i} \sqrt{\lambda}\left[1+\mathrm{O}\left(e^{-2|\Im \sqrt{\lambda}|}\right)\right]$ as $\lambda \rightarrow-\infty$. From [22, p. 113] we have

$$
\frac{\tan \sqrt{\lambda}}{\sqrt{\lambda}}=\sum_{k=0}^{\infty} \frac{2}{\left(k+\frac{1}{2}\right)^{2} \pi^{2}-\lambda} .
$$

Thus by Lemma 5.1

$$
\lim _{\lambda \rightarrow-\infty} m(\lambda)+\sqrt{\lambda} \tan \sqrt{\lambda}=0
$$

Using (5.1)-(5.3) and the above Mittag-Leffler expansion, we have

$$
\begin{aligned}
m(\lambda)+\sqrt{\lambda} \tan \sqrt{\lambda}= & m(0)+S(\lambda)+\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v}^{1}}{\Lambda_{n+M-v}}-2\right] \frac{\lambda}{\lambda-\Lambda_{n+M-v}} \\
& +\sum_{n=0}^{M-v-1} p_{n}^{1}\left(\frac{1}{\lambda-\Lambda_{n}}+\frac{1}{\Lambda_{n}}\right)+\sum_{n=0}^{\infty}\left[\frac{2 \lambda}{\lambda-\Lambda_{n+M-v}}-\frac{2 \lambda}{\lambda-\left(n+\frac{1}{2}\right)^{2} \pi^{2}}\right],
\end{aligned}
$$

cf. (5.4). By (5.5) we have

$$
\lim _{\lambda \rightarrow-\infty} \sum_{n=0}^{\infty}\left[\frac{p_{n+M-v}^{1}}{\Lambda_{n+M-v}}-2\right] \frac{\lambda}{\lambda-\Lambda_{n+M-v}}=\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v}^{1}}{\Lambda_{n+M-v}}-2\right] .
$$

Noting that $\Lambda_{n+M-v}-\left(n+\frac{1}{2}\right)^{2} \pi^{2}=\mathrm{O}(1)$, we see that there exists a constant $K$ such that, for $\lambda$ large and negative,

$$
\begin{aligned}
\sum_{n=0}^{\infty}\left|\frac{2 \lambda}{\lambda-\Lambda_{n+M-v}}-\frac{2 \lambda}{\lambda-\left(n+\frac{1}{2}\right)^{2} \pi^{2}}\right| & \leqslant K \sum_{n=0}^{\infty}\left[\frac{|\lambda|}{|\lambda|\left(\left(n+\frac{1}{2}\right)^{2} \pi^{2}-\lambda\right)}\right] \\
& =\frac{K \tan \sqrt{\lambda}}{2 \sqrt{\lambda}} \\
& \rightarrow 0 \quad \text { as } \lambda \rightarrow-\infty .
\end{aligned}
$$

As $\lambda \rightarrow-\infty$ we thus have

$$
m(\lambda)+\sqrt{\lambda} \tan \sqrt{\lambda} \rightarrow m(0)+S_{\infty}+\sum_{n=0}^{M-v-1} p_{n}^{1} \frac{1}{\Lambda_{n}}+\sum_{n=0}^{\infty}\left[\frac{p_{n+M-v}^{1}}{\Lambda_{n+M-v}}-2\right]
$$

from which we obtain

$$
0=m(0)+2(M-v)+S_{\infty}+\sum_{n=0}^{\infty}\left[\frac{p_{n}^{1}}{\Lambda_{n}}-2\right] .
$$

Substituting this back into the expression for $m(\lambda)$ we get the required result

$$
m(\lambda)=-2(M-v)+\sum_{n=0}^{\infty} \sum_{j=2}^{v_{n}} \frac{p_{n}^{j}}{\left(\lambda-\Lambda_{n}\right)^{j}}+\sum_{n=0}^{\infty}\left[2+\frac{p_{n}^{1}}{\lambda-\Lambda_{n}}\right]
$$

as for the proof of Theorem 5.2.

## 6. Uniqueness

We conclude the present work by proving that the eigenvalues, their multiplicities and corresponding norming constants of (1.1)-(1.3) uniquely determine $g, h$ and $q$.

Theorem 6.1. The eigenvalues $\lambda_{n}$ and their generalized norming constants $\rho_{n}^{k}$ uniquely determine $q, \alpha$ and $f$.

Proof. By Theorems 4.4, 5.2 and 5.3, the $\lambda_{n}$ and $\rho_{n}^{k}$ uniquely determine $m$. The theorem now follows from [7].

## Acknowledgements

We thank the referees for their careful criticism and useful suggestions.

## References

[1] A.I. Benedek, R. Panzone, On inverse eigenvalue problems for a second-order differential equation with parameter contained in the boundary conditions, Notas Algebra Analisis 9 (1980) 1-13.
[2] A.I. Benedek, R. Panzone, On Sturm-Liouville problems with the square-root of the eigenvalue parameter contained in the boundary condition, Notas Algebra Analisis 10 (1981) 1-59.
[3] P.A. Binding, P.J. Browne, Applications of two parameter eigencurves to Sturm-Liouville problems with eigenparameter-dependent boundary conditions, Proc. Roy. Soc. Edinburgh Sec. A 125 (1995) 1205-1218.
[4] P.A. Binding, P.J. Browne, K. Seddighi, Sturm-Liouville problems with eigenparameter dependent boundary conditions, Proc. Edinburgh Math. Soc. 37 (1993) 57-72.
[5] P.A. Binding, P.J. Browne, B.A. Watson, Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter I, Proc. Edinburgh Math. Soc. 45 (2002) 631-645.
[6] P.A. Binding, P.J. Browne, B.A. Watson, Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter II, J. Comput. Appl. Math. 148 (2002) 147-168.
[7] P.A. Binding, P.J. Browne, B.A. Watson, Equivalence of inverse Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter, J. Math. Anal. Appl., 291 (2004) 246-261.
[8] G. Börg, Eine Umkehrung der Sturm-Liouvilleschen eigenwertaufgabe, Acta Math. 78 (1946) 1-96.
[9] A. Dijksma, Eigenfunction expansions for a class of J-selfadjoint ordinary differential operators with boundary conditions containing the eigenvalue parameter, Proc. Roy. Soc. Edinburgh Ser. A 87 (1980) 1-27.
[10] A. Dijksma, H. Langer, Operator theory and ordinary differential operators, Fields Inst. Mono. 3 (1996) 75-139.
[11] A. Dijksma, H. Langer, H. de Snoo, Symmetric Sturm-Liouville operators with eigenvalue depending boundary conditions, Canad. Math. Soc. Conf. Proc. 8 (1987) 87-116.
[12] A.E. Ětkin, Some boundary value problems with a spectral parameter in the boundary conditions, Amer. Math. Soc. Transl. Series 2136 (1987) 35-41.
[13] D.B. Hinton, Eigenfunction expansions for a singular eigenvalue problem with eigenparameter in the boundary conditions, SIAM J. Math. Anal. 12 (1981) 572-584.
[14] L. Hörmander, Lectures on Nonlinear Hyperbolic Differential Equations, Springer, Berlin, 1997.
[15] M.G. Krein, Solution of the inverse Sturm-Liouville problem, Dok1. Akad. Nauk SSSR 76 (1951) 21-24.
[16] V.A. Marchenko, Some questions in the theory of one-dimensional linear differential operators of the second order, Part I, AMS Transl. Ser. 2101 (1973) 1-104.
[17] M.A. Naimark, Linear Differential Operators I, Ungar, New York, 1967.
[18] E.M. Russakovskii, Operator treatment of boundary problems with spectral parameters entering via polynomials in the boundary conditions, Funct. Anal. Appl. 9 (1975) 358-359.
[19] E.M. Russakovskii, The matrix Sturm-Liouville problem with spectral parameter in the boundary conditions, Algebraic and operator aspects, Trans. Moscow Math. Soc. 57 (1996) 159-184.
[20] A.A. Shkalikov, Boundary problems for ordinary differential equations with parameter in the boundary conditions, J. Sov. Math. 33 (1986) 1311-1342.
[21] A.V. Štraus, On spectral functions of differential operators, Izv. Akad. Nauk SSSR Ser. Mat. 19 (1955) 201-220.
[22] E.C. Titchmarsh, Theory of Functions, 2nd Edition, Clarendon Press, Oxford, 1939.
[23] A. Zygmund, Trigonometric Series, Vols. I, II, Cambridge University Press, Cambridge, 1979.


[^0]:    * Corresponding author. Tel.: +403-220-6328.

    E-mail address: binding@ucalgary.canot.edu (P.A. Binding).
    ${ }^{1}$ Research supported in part by grants from the NSERC of Canada.
    ${ }^{2}$ Research conducted while visiting University of Calgary and University of Saskatchewan and supported in part by the Centre for Applicable Analysis and Number Theory.

